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4321

M.A. (Previous) Examination, 2015

ECONOMICS
Paper-I
(Micro-Economics Analysis)

Time : Three Hours
Maximum Marks ; 100

PART-A (@ve-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

Tsft wem afred § ToE Y F IR 50 TR
Q fuw 7 & aft we ® iF gEe

PART-B (@"e-9) [Marks : 50
Answer five questions (250 words each), Selecting
one question from each unit. All questions carry equal marks.

TF TR W TH-UE W TN g, w9 ure
T9T HISU FdF T T IW 250 T | 3w T 7
oft g # ofF wm ¥
PART-C (@ve-9) [Marks : 30

Answer any two questions (300 words each).
All questions carry equal marks.

FE a1 T FIW TIF W F IW 300 TR
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PART-A
(@us-23T)

UNIT-I

(gTE-1)

1. (i) Whatis equilibrium ?
M R?

(i) What do you mean by substitutions effect ?
YRR TE QY F 1 EEER 2

UNIT-II
(3®E-11)
(iii) Explain the meaning of external economics ?
g Thoemaamst #1 ol T wifw)
(iv) What is isoquant ?

o T 72

UNIT-III

(s@-1I1)

(v) What is the objective of firm according to Baumol's
model.

THE B Hied B IER FH W R¥ F 2

(vi) What is meant by elasticity of technical substitution ?
et Yheerm oA ® own g R
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UNIT-1V

(3FE-1V)

(vii) What is value judgement ?

e fofg w2

(viii) Define welfare economics.

wHeam ydve w uRenfye wifsu

UNIT-V

(3FT-V )

(ix) How an insurance company spread its risk ?

TF I FEE S SifEgw w1 boe 91 fawn 39
Eacil %

(x) What do you mean by asymmetric information ?

STRET AN ¥ Y F TEE &2

PART-B
(QUs-)

UNIT-1

(FFE-1)

2. Explain the Cobweb theorem.
Flag T (VHETIE THE) TR FHiw

OR
(3terE)
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Explain the methods to measure price elasticity of demand.

o # S99 d= w9 s kel e st

UNIT-II

(TFE-11)

Explain how does a producer achieve an optimum or a least
cost combination of factors of production.

IEEA ® WAl H OATH AN FA AT STIHRSAE §an
T IOEF PR TG F@ 2?7 W Hif

OR
(7%En)

Discuss the price and output determination under price
leadership by a dominant firm.

TF FEt FH ZR OFEA TGE ® A FHIAA-SAR
fruftor w1 ==t FifSw

UNIT-HI

(FTE-111)

Explain Williamson's Utility Maximisation Model.

faferaaea & STAfian fusaaetor wisa &1 =3/ Hifaa)

OR
(3rerEn)
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10.

How the Modern Theory of Interest is superior than
Keynesian Theory of Interest ?

o F YT fagm, oW ® s & e @ few
TR IS ®?

UNIT-1V

(FEE-1V)

How the point of constrained bliss is achieved through grand
utility possibility curve ?

rafud o 1 g e ST SREA 9% 9 $E
wa fF S R?

OR
(37%E)

Discuss the Rawlsian Theory of Justice.

Ta & = & fagm = =en s

UNIT-V

(FFE-V)

What is an asset portfolio ? How is the risk and return of a
two-asset portfolio measured ?

e TEfe FRwE (WHeif) w22 ™ @ s
oe-wifea w1 fEm 3 wfaed $9 " S 82

OR
(3ran)

4321/1550/555/146 5 [P.T.O.



11. Explain Stigler’s Theory of Search.
g9 ® foer & fagm =t =reEn Fifsm

PART-C
(@us-H)

UNIT-1

(FFTE-1)

12. Explain the Revealed Preference Theory of Demand.
A # yHe (Iqfea) fmm fag #t = wifsm

UNIT-II

(g~ )

13. Compare monopoly equilibrium with equilibrium under
perfect competition.

THFRFR W Pl ghEf ® oot W /@ ger
ifem

UNIT-III

(¥&Té-11 )

14. Explain critically Bain's Limit Pricing Theory.
T F O wma FraRe fagm ) iAo =weEn

Hifsm)
4321/1550/555/146 6



UNIT-IV

(FEE-1IV)

15. Explain the Pareto Optimalitity Conditions for Welfare
Maximisation.

FE SFAHEH H WS FIHRETH FT I HI =S
Hifs

UNIT-V

(FFRE-V)

16. What is Insurance ? How do insurance companies avoid
risk and make profit ?

o = &2 i wfEl Sifee 39 s € 3 F9 oy
sl w2
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